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Answer ALL the questions.

For items 1 to 15, each item is followed by four options lettered A to D. Read each item
carefully and circle the letter of the correct or best option.

1. What type of bond is between the atoms in a magnesium foil? .................. bond.
onic
Metallic

2. Magnesium metal reacts with aqueous hydrochloric acid solution to produce aqueous

ium chloride and hydrogen gas. Write a balanced equation for the reaction
ﬁ&s) i 2HClag) % MgClaag) b Ha(g)

MgClZ(ﬂq)
MgCla(ag)
MgC lz(ﬂq)

B. Mg(g, + HzCl(aq}
D. Mg + HCl(ag)
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3 Which of the following represents the chemical formula of Sodium Peroxide? sEie |
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4.  What is the arrangement of electrons in the shells of an Al
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2. wiuch ol the foilowing types of bonds is/are exhibited by the compound NH;C1?
I. Covalent bond

l1. Coordinate covalent bond
I1I. Metallic bond
V. Electrovalent bond g -

A. 1.1land M1 g2
B‘ :}’&

I NI and 1V
LA and 1V \

@1 Il and IV ' M

6. How many chlorine atoms are present in 0.4 mol of CaCl,? (L = 6.02 X 10%°)
A. 20 % 10* atoms. |

s (BY) 2.40 x 1022 atoms. Nf—' M= nl

C. 2.83 x 10%* atoms. . 725
D. 4.82 x 10?* atoms. N = o $X G OIX (6

7. Which of the following equations is balanced? |
A Mgg + Org———> 2 MgOy i oI feC.
H>SOs+ 2NaOH ——>  NaS0y4 + 2H20 R £~ J*'“t
. 3KCIO; ———> Kt + 30
D. Hh + O ———> H>O

8. Which of the following represents the three subatomic particles of an atom?
A. Neutrino, proton and electron.
B. itron, neutron and electron.
Proton. neutron and electron.
D. Proton, positron and electron.

- 9 What is the systematic name of Fe;O3?
A. Tron (I) oxide.
B Iron (II) oxlde
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2. According to Boht's model of the atom, the electron groups that oceur in an atom are known as
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13. L:thlum metal reacts with water to produce Lithium hydroxide and hydrogen gas. Which of the

following represents a balanced equation for the reaction?
Lig) - 2H>Oy = 21.10H (4 i Hag
B. Liy + HzOu) i Ll(Ol’I)g(nq) + HZ(g)
C. Lirg + I‘IEO(]) == LiOI‘I(ﬂq) St I{Z{g)
D. Liys + HzO(l) o LiOI’I(ﬂq} 1 H(g) 1
14. Wéﬂ is the total number of oxygen atoms contained in two formula units of Iron (I11) 6xide?
¢ ()2
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15 What is the collective name for protons and neutrons in the nucleus of an atom?
A. Mass number.

B. Molecules. 15 Fa @
& es et
. C o
ucleons.

For items 16 to 18, write the appropriate responses in the spaces provided.
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16. An atom has six protons and seven neutrons in its nucleus. Find the following for the atom.

i.  Mass number 1 mark L
Mags. Nambey Ectons Humber T .H. ...................................
...... Mage Member 26 3

11. Number of electrons

Nu or CJ,{_ d&f’mm = M-ft mmber 3
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17. Write down the electron configuration of the following elements using the Bohr’s model. 7 - 31 AR e
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